

$$f(x+1) = \left(\frac{1}{x}\right)^{x-1} - 1 \Rightarrow y = \sqrt{x^x \left(\left(\frac{1}{x}\right)^{x-1} - 1\right)} \geq 0$$

$$\text{برای } x^x = 0 \rightarrow \boxed{x=0} \quad (1)$$

$$\left(\frac{1}{x}\right)^{x-1} - 1 = 0 \rightarrow \left(\frac{1}{x}\right)^{x-1} = 1 \Rightarrow \boxed{1-x=0} \Rightarrow \boxed{x=1} \quad (2)$$

$$\begin{array}{c} 0 \quad 1 \\ - \quad + \quad - \end{array} \Rightarrow Df = [0, 1]$$

$$f(-x) = \sqrt{-x + |2-x|} \geq 0 \Rightarrow |2-x| \geq x \begin{cases} 2-x \geq x \rightarrow x \leq 2 \\ 2-x \leq -x \rightarrow x \geq 2 \end{cases} \Rightarrow \boxed{x \leq 2}$$

$$Df = (-\infty, +1]$$

$$\begin{array}{l} x=1 \rightarrow x=1 \\ f(x) \geq 0 \\ x \neq 2, 3, -\varepsilon \end{array}$$

|        | $x < -\varepsilon$ | 1 | 2 | 3 |
|--------|--------------------|---|---|---|
| $x-1$  | -                  | - | + | + |
| $f(x)$ | +                  | + | - | + |
| $p(x)$ | -                  | + | - | + |

$$Df = (-\varepsilon, 1] \cup (2, 3)$$

$$y = x^x \varepsilon - 4x^x x + 1 - (x^x + \varepsilon x + \varepsilon) = (x^x x - 1)^x - (x + \varepsilon)^x = (x^x x - 1 - x - \varepsilon)(x^x x - 1) + x + \varepsilon$$

$$\frac{(x^x x - x - 3)(x^x x + x + 1)}{x^x}$$

$$y^x = \frac{1}{x^x x + ax + b} = \frac{1}{x^x x - x - 3} \Rightarrow \begin{cases} a = -1 \\ b = -3 \end{cases} \sqrt{-(-1-3)} = \sqrt{\varepsilon} = 2$$

$$f(x) \geq f\left(\frac{\varepsilon}{x}\right) \Rightarrow x^x + \frac{4\varepsilon}{x} + \frac{\varepsilon}{x} \rightarrow x^x - \frac{4\varepsilon}{x} \geq \frac{\varepsilon}{x} - x$$

$$\left(x - \frac{\varepsilon}{x}\right)^x \geq \frac{\varepsilon - x^x}{x} \rightarrow \left(x - \frac{\varepsilon}{x}\right) \left(x^x + \varepsilon + \frac{14}{x^2}\right) + \left(x - \frac{\varepsilon}{x}\right) \geq 0$$

$$\left(x - \frac{\varepsilon}{x}\right) \left(x^x + x + \frac{14}{x}\right) \geq 0 \Rightarrow \frac{x^x - \varepsilon}{x} \geq 0 \quad \begin{array}{c} - \quad + \quad - \quad + \end{array} \quad [-2, 0) \cup [2, +\infty)$$

$$\left. \begin{aligned} x^3 + x = 2 &\Rightarrow \boxed{x=1} \rightarrow f(1) = \textcircled{1} \\ x^3 + x = 10 &\Rightarrow \boxed{x=2} \rightarrow f(2) = \textcircled{5} \end{aligned} \right\} \forall x+1 = \textcircled{1}$$

5

$$f(x) = \frac{x^3 - 4x^2 + 12x - 1 + 1}{(x-1)^2 + 1}$$

$$g(x) = (x+2)^3 - 2V$$

5

$$g(\sqrt[3]{V} - 2) \Rightarrow (\sqrt[3]{V} - 2 + 2)^3 - 2V = V - 2V = -V_0$$

$$f(\sqrt[3]{2} + 1) \Rightarrow (\sqrt[3]{2} + 1 - 1)^3 + 1 = 1_0$$

$$\frac{g(x)}{f(x)} = \frac{-V_0}{1_0} = \textcircled{-2}$$

$$f(x) = \sqrt{x + 3\sqrt{x-3} - 3 + 3} = \sqrt{\sqrt{x-3} + 3\sqrt{x-3} + 3} = \sqrt{(\sqrt{x-3} + 1)^2} = |\sqrt{x-3} + 1|$$

$$g(x) = \sqrt{x - 3\sqrt{x-3} - 3 + 3} = \sqrt{\sqrt{x-3} - 3\sqrt{x-3} + 3} = \sqrt{(\sqrt{x-3} - 1)^2} = |\sqrt{x-3} - 1|$$

و غیر از این ممکن باشد زیرا در این صورت اینها را می توان به صورت  $f(x)$  و  $g(x)$  نوشت.

$$f(x) + g(x) = \sqrt{x-3} + 1 + \sqrt{x-3} - 1 = 2\sqrt{x-3} \quad a=0 \Rightarrow \frac{a+b}{c} = \frac{-2}{3} = \textcircled{-\frac{2}{3}}$$

$$f(x) = \frac{x+2}{(x-1)(x-3)} \rightarrow x \neq 1, 3 \rightarrow f(x) = \left\{ (2, -\frac{1}{2}) (0, \frac{2}{3}) \right\} \quad Df \cap g = \{2, 0\}$$

$$\frac{g(x)}{f(x)} = \left\{ (2, -\frac{1}{2}) (0, \frac{2}{3}) \right\} \Rightarrow \text{محدود}$$

5

$$\begin{aligned} \text{الف) } f(2x) &\Rightarrow 2x=1 & 2x=2 & 2x=3 & 2x=-1 \Rightarrow \left\{ (\frac{1}{2}, 2) (\frac{2}{3}, -1) (3, 2) (-\frac{1}{2}, 4) \right\} \\ x &= \frac{1}{2} & x &= \frac{2}{2} & x &= 2 & x &= -\frac{1}{2} \end{aligned}$$

$$\begin{aligned} \text{ب) } f(x^2) &\Rightarrow x^2=1 & x^2=2 & x^2=3 & x^2=-1 \Rightarrow \left\{ (1, 2) (-1, 2) (\sqrt{2}, -1) (-\sqrt{2}, -1) (3, 2) (-3, 2) \right\} \\ x &= \pm 1 & x &= \pm \sqrt{2} & x &= \pm \sqrt{3} & x &= \pm i \end{aligned}$$

$$\text{ج) } f(g(x)+1) \Rightarrow \left\{ (-2, 14) (1, 2) (3, 9) (-1, 1) \right\} \quad \text{د) } Df \cap g = \{1, -1, 3\}$$

$$\frac{f}{g} \Rightarrow \left\{ (1, -\frac{1}{2}) (2, -1) (-1, \frac{2}{3}) \right\} \Rightarrow \left\{ (1, -\frac{1}{2}) (2, -1) \right\}$$